DH=

RE 22 /RE-VCD 22/ RA 22/ FE 22 /] FE-KA 22

KomnnekT kpoHwTenHoB RE 22 ons pambl, BHyTPEHHUI RE 22 Bracket Set - Frame, inwards

ACI 22 KA 22
NS NNNASNN
5 \\ 5 \\

2 ACI 22
ﬁ@ [ @i@ © 53° ACI 22

18

I

70
70

=

W I

MEBKKD

a ACl22unnKA22* a ACl220orKA22*
b KpOHLITENH Ansi CTBOPOK b Wing bracket
C LWITUMT KPOHLUTENHA ¢ Bracket pin
d npvBOAHbLIN Kp. CNeBa v cnpasa d Drive bracketrightand left
- Ans ACI 22 n KA 22 o SerT oL - for ACI 22 and KA 22 spScrewtypelbeanng
f Gont-Panhead @4,0x25Mm . i f Panhead screw @4,0x25mm
- [Ons MOHTa)ka Ha pame (camoHapes ¢ nuH3. .3 4,2 x 25Mm)** - forinstalling on frame (Pan-head tapping screw @ 4,2 x 25mm)**
- BKI. KpenéxHble 6onTbl gns nnact- 9 ‘fgﬂT-SPaX ®4y5x2f'gM22 - - incl. fastening screws for [¢] (SﬁaﬁSCff‘leﬁi:(?fgmzz -
0T C CaMOpe3 rof. 4,8 X 22ZMM i H sheetmetal screw ks 4,6 X 22Zmm
windows of plastic or wood
MaCCOoBbIX U 'qeper'HHb'X OKOH H 6onT-Spax @4,5x20mMm . P h Spaxscrew @4,5x20mm
- uBeT: cepebpucTbIn (6onT camopes ror. 4,8 x 22Mm)** - Colour: silver (sheet metal screw k s 4,8 x 22mm)**
- BO3MOXHa NakMpoBKa BO BCe LiBeTa | MPYXMHHbI WTekep - Possibility of paint in all i cotterpin
RAL k pasgBuxka RAL-Colours k Distance plate

* notincluded

* He umeeTcs . .
- max. stroke = wing height x 0,7 «xgcrew et plastic®

- MakKc. Xof, = BblCOTa CTBOPKM X 0,7  **komnnek 6onTos ,nnacTMaccossle”

KomnnekT kpoHwTeinHoB RE-VCD 22 ans pambl, BHyTPEHHN RE-VCD 22 Bracket Set - Frame, inwards

AN
EANNN

Vil o=
o * J
v
N
5 715
N
a VCD22* a VCD22*
b KpoOHLITENH Ansi CTBOPOK b Wing bracket
C LUTUT KPOHLUTENHA ¢ Bracketpin
d nNpvBOAOHBIN KPOHLITENH d Drive bracket
e 6onT CBHYTPEHHUM LLECTUT. M4 x 6 e Inbus screw M4 x6
f 6onT-Panhead @4,0x25MM f Panhead screw @4,0x25mm
(camope3s c nnH3. .G 4,2 x 25Mm)** (Pan-head tapping screw @ 4,2 x 25mm)**
- ona VCD 22 g 6GonT-Spax @4,5x25mm - for VCD 22 g Spaxscrew @4,5x25mm
(6onT camopes ron. 4,8 x 22mm)** fori i f (sheet metal screw k s 4,8 x 22mm)**
- ANA MOHTaXa Ha pave h 6onT-Spax @4,5x20mMm - forinstalling on frame h Spaxscrew @4,5x20mm
- uBet: cepebpuctbii (6onT c camoHapes ron. 4,8 x 22mMm)** - Colour: silver (sheet metal screw k s 4,8 x 22mm)**
- BO3MOXHa NakupoBka BO BCe ' Konnaqkm,q_nﬂ Gonos - Possibility of paint in all ' Sctrtew govenng
NPY>XUHHBIV LUTEKEeP RAL-Colours j cotterpin
ugera RAL * He umeetcst * notincluded

- MaKC. X0 = BbICOTa CTBOPKY X 0,7 **KOMMNEKT GOMTOB ,MNacTMACcCOBbIE" - max. stroke = wing height x 0,7  **Screwset,plastics*

. CucTembl AbIMOyAaneHust | . CUCTEMbI ECTECTBEHHOI BEHTUNALMM | | | CucTeMbl NprUBOLOB | . MoxapHble cucTembl
Smoke- and Heat Vent Systems Natural Ventilation Systems Drive Systems Fire-door Control Systems

3.1.8.0



RE22/RE-VCD22/RA22/FE22/FE-KA22

KomMnnekT kpoHWwTenHoB RA 22, Hapy>XHbIN

RA 22 Bracket Set - Frame, outwards

@D - 5 1o
o <t ; ol & puc.: VCD 22
S o Pl fig.: VCD 22
@ g
& 0-15
VCD =65
ACI =74
KA 22 = 68
7 :
S SN B
a VCD22, ACI22vnn KA22* a VCD22,ACl220rKA22*
b nNpvBOAHbLIN KPOHLLTENH b Wing bracket
C WTUT KPOHLUTENHA ¢ Bracket pin
d neBbIi KDOHLUTENH NprBOAA d Drive bracket left
€ MpaBblii KPOHLUTENH NpUBoaa e Drive bracketright
- ONsi MOHTaXxa Ha pame ] . . !
- f GonT-noawWMnHMK - for installing on frame f Screwtype bearing
- BKI1. KpenéxHble 6oNTbl AN NnacT- G GonT-Panhead @4,0x25MM incl. fasteni f g Panhead screw @4,0x25
(camoHapes. ¢ nH3. .3 4,2 x 25Mm)** - Incl. tastening screws tor (pan head tapping screw @ 4,2 x 25mm)**
MaccCoBbIX U AepeBAHHbIX OKOH : :
Aep H 6ont-Spax @4,5x25um windows of plastic or wood h Spaxscrew @4,5x25

- UBET: cepebpucTblii
- BO3MOXHa NakMpoBKa BO BCe LiBETA i
RAL

(6onT c camoHapes ron. 4,8 x 22mMm)** - Colour: silver

NPY>XXUHHBIV LUTEKeP o o i
* He UMeeTcA - Possibility of paint in all

**KOMNNeKT 6oNToB ,NNacTMaccosble” RAL-Colours

(sheet metal screw k s 4,8 x 25mm)**
Cotter pin

* notincluded
**Screw set ,plastics”

FE 22, FE-KA 22 Habop KpOHLUTENHOB AS151 CTBOPKM
\\\\\\\x

FE 22, FE-KA 22 Bracket Set - Window Wing

. &l

<+ il

35

56)

VCD =51
ACI =60
KA 22 =54

SVCD=67 \
N> ACI=76 N\
KA22 =68 Abb.: VCD 22
fig.: VCD 22

(KA 22

a VCD22,ACl22unnKA22* a VCD22,ACl220rKA22*

b KpoHLWTEWH ANsA pambl b Frame bracket

C LUTUT KPOHLUITEVHA ¢ Bracketpin

d neBbli NPUBOAHbBIV KPOH. d Drive bracketlefthand

e noAaLNMHUK e Pivotbearing

f noaknagHas nnacTuHa 2um f Spacer2mm

g noAaknagHasi nnacTuHa 4mm g Spacer4mm

h nogknagHaa nnactuHa 8wm h Spacer8mm

i NpaBbIfi KPOHLUTENH i Drive bracketrighthand

j wmmdT5x20 j Parallel pin5x20

k wypynM4x12 k Countersunk screw M4 x 12

m 6onT-Spax @4,5x25mm m Spax screw @4,5x25

(6onT camopes 4,8 x 22mMm)** (sheet metal screw @ 4,8 x 25)**

- AN MOHTaXxa Ha pame n 6Gont-Spax @4,5x20mMm for installing on window wing n Spaxscrew @4,5x20

- BKJ1. KpEN&XHble GonThbl AN nnacT-

MacCOBbIX U fepeBAHHbIX OKOH

(6onT camopes 4,8 x 22mm)**

p GonT-Spax @4,5x25um
(6onT camopes 4,8 x 22mMm)**

incl. fastening screws for
windows of plastic or wood

(sheet metal screw @ 4,8 x 22)**

p Spaxscrew@4,5x25
(sheet metal screw @ 4,8 x 25)**

- uBeT: cepebpuCTbIi r konnavokbonra Colour: silver r Screw covering 3

S MNPYXWHHbIV WTEKep . s s cotter pin g

- BO3MOXHa fnakupoBska BO BCe LiBeTa & IR Possibility of paint in all * notincluded &

RAL RAL-Colours **Screw set ,plastics* Y

S

Tun Ne apr. Bec Mpumeyarmus ;

Type Ord.-No. Weight Comment ©
RE 22 22.101.60 0,30kg
RE-VCD 22 22.101.50 0,30kg
RA 22 22.101.00 0,30kg
FE 22 22.101.10 0,30kg
FE-KA 22 21.052.70 0,30kg

MpaBa Ha TeXHWYECKNE N3MEHEHNSI COXPaHSIOTCS.
Rights to technical modifications reserved.

© 2008 D+H Mechatronic, Ammersbek

D-H= ERCE

D + H Mechatronic AG - Georg-Sasse-StraRe 28-32 - D-22949 Ammersbek/Hamburg - Germany
Tel: +49 40 - 605 65 -0 - Fax: +49 40 - 605 65 222 - info@dh-partner.com - www.dh-partner.com



	Seite1
	Seite2

